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transcription needs a certain amount of editing,as even if the
computer can tell the difference between words of similar sounds
such as write and right,it is still not yet able to do the work as well as
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OO0O00000 2. Ifaneedle is thrown at random on a sheet of
paper ruled with lines whose distance apart is exactly equal to the
length of the needle,how often can it be expected to fall on a line and
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O OO 0O 3. Allthat a man has to say or do that can possibly
concern mankind,is in some shape or other to tell the story of his
love - to sing,and if he is fortunate and keeps alive,he will be forever
inlove. 0 DO00O0JandO0 0O O0O0O0OO0OOOOOOOO
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00000000 4. Asfamilies move away from their stable
community,their friends of many years,their extended family
relationships,the informal flow of information is cut off,and with it
the confidence that information will be available when needed and
will be trustworthyand reliable. O 0 DO OO0 000000 O
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by the help of further reasoning,which if drawn out would have been
exhibited in two or three other syllogism,you arrive at your final
determination,l will not have thatapple. 0 O OO O 0O OO O O
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It is quite unnerving not to be able to see or to establish contact with
the other person,even though we have learnt to have conversations
with people we cannot see,as on the telephone. O 0 0 O 0O 0O O O
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[1 7. Actually we know of no type of astronomical body in which the
conditions can be favorable to life except planets like our own
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0O 00O 8 Theincrease in the numbers of married women
employed outside the home in the twentieth century had less to do
with the mechanization of housework and an increase in leisure time
for these women than it did with their own economic necessity and
with high marriage rates that shrank the available pool of single
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[ 00 O 9. The European Union is an imperfect creature,with
some of its actions based on fine principles of political economy and
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Americans,being on ones own suggests that one is a fully
independent and functioning part of the whole capable and willing to
makechoices. 1 0 DO OO OOthatD OO0 OOOO
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